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Q.1 choose the correct option in the following questions, mention

the correct option in the answerbook'

(1) If T :V1 -+ W defined bv f(r) : (1,0) then T(r a- v) -
(u) (*,il (b) (r + s,0) (t) (',0) (d) (Y' 0)

(2) dinr Pz: .........
(u) 1 (b) 2 (') 3 (d) 4

(3) If alinear map 7 :V2 1V2 clefinedW T(*,A): \r'-il ' BtkBzare

standard basis fot V2 then (7 : fu, 82) = """""""""

[10]

(5) In vector space V , {r} is LD iff '..".' """'
(a) u:0 (b) , I 0 (.) ,: {0} (d) u : 1

(6) dinr vs: .........

(u) 1(b) 2 (.) 3 (d)

(7) In anY vector space V , 0 u =

,\ [rol,,, [rCrl 1^\ [r(u) 
L; ll tut L; ;l (') | 

''(4) Every subsel of .."".". set is LI .

(a) LD (b) LI (c) zero (d) Powet

(u) 4x3 (b) 3x3 (.) 3x4
(10) If T : U + V is linear map then f(0) - '

?](d)[l

(u) 0 (b) u (.) 0 (d) 1

[tool
(B) If ,a: lO i 0l , 8",: B'2: {e1,ez,et},then the linear rnap T sr.rch that

ttoll
A: (T\.gr,ni) is given by T( x , I , z) : \ ,,\ ,

(u) 1',o,ii; iui (0,t,0j (:) (0,0,2) (d) (*,v'')
(9) T :Vs -+Va then the matrix (T : BlB2) is of order ";"""'

(d) 4x 4

(u) 0 (b) 1 (.) 1 (d) 0

Q.2 Do as directed: -
(1) Tlue or False: In any vector space V , o 0 = 0'

(Z) ttu. or False: Any set containing zero vector is LD set

[08]
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r - 'i if its rows are LI'

[i] fi5 :r Hi,.;, T-;:'Ti'il'ffi:f#"ir?ir- !' 1*,';"*',;;i il* r is a

Linear map. m/,-\ _ -/ +hon T(n * o)....,..."..... J \pJ r I \q/'

(b) If T ., p 
.-+p defined bv r(p) = p'then T(p+q)""" ' " ?(p) +?(q)

igi *:"r-iie'::,il**;:;.,*:,"ffi?T"Try'ru.'l :::1"u :,, 
" 

.,n
(7) Thg zero 1S a cnalaut'tr"ou'"';^"^- ,r.(n,,, +ht,r\ .........a/,\utJr-,u-'

isi rf T .U* v ,, i*-u, rup tr'on i1ol,'r"i p*l ' ' "aT(u1) i fiTluz) '

t"'i;;ull""utu' 
o'P ' 

for all u1'u2eu

Q.3 Answer the following in short'lAttu*pt any ten]: i20l

(1) Define Inner product on vectot space V 
brali u €V

(2) For *nv t'c,to'space r'..-e'31,tftut"i-ii'^= -u ' forali u€V '

t 3'#il ;ikj* ll* *;l1 lffi]i: the ordered bases 81 a'ld Bz

(5) Define un Lo*o'phism of Linear Transformation'

(o) L aset{pt il;;;'*ot n -;}-suu'pute 
of avector space P ?

i:l ;:l:: .til*:,tT;t;,iHlTl,,ith the marrix reiative ro rhe orderecr bases

,r, 

t- 

'"r3 

Urlir,nl,!'z) 
e v3lrl+ r?' + r'z33r:. subspace of a

vector sPace % ?

(10) Is t(i,o'o;,1zio'o)'(o'O',1)] 
LI of % ?

(11) Let T : tl-i V be a linear map' then prove that f (0v) = 0v'

(12) rs a map T :w-+vzdefined;r;i;;, z,ns) =(l',1,0) Linear ? Justifv'

l32l

Q.4 Attempt any Four' 
n., . 

ece uncler

(a) Show that V3: {('t'1'''-1]., I *''r''rr € Ri is a real vector spi

'*' oruut addition.a"a'tt,tt*1^X'i1t;gltfi, u -+ \,, is one one mapping iff

(b) Show that a linear translou

Ker(T) :0'
(c)LetVbeuue,to,,pS::Vwithbasisconsistofne}ernentsthenProvethat

; il{ 
';;},trtr**:.Tft':'ilTfi1'*i-ililthgiee 

}ess than or equar to 
'lr

anc] let v' -_ F' Is tl'e 'nappi#';ilTt li 
-+ v' 

'where 
T(a' t a$ *

&2fi.|,,,+anr,)=0,oiSarineu,transformationornot?Justifyyoutanswel
in detail.

#:*\
it'*9q

t.f Jrliliiat the set l4'(F) of all n x n 
'ver 

F forms a ring'

/ffi".



(f) Determine the Eigen values and the corresponding Eigen vectors for the ma-

trix 
[g z 41t: lz o 2l

L-2Bl

(g) Let ,4

matrix

(h) Orthonormalize the set of linearly independent vectors

{(1,0, 1,1), (-1,0, *1, 1), (0, -i, 1,1)} of.v+.

_./#.

lz -3 4l ,

I r o -11I - - - I Obtain a linear map associated with the given

li z -21

, *h*ru 81 and 
JBz 

arestandard bases of Vg and I/a respectively. .

o


